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SECTION - A
i) General Awareness
1. To which place did the Kauravas go 5. Which is the Capital of Odisha ?

for the annual stock-taking of the (A) Bhubaneswar
cows, where Duryodhana was seized (B) Puri
by the king of Gandharvas, ,
Chitrasena ? ©) Hf""h‘
(A) Dwaitavana (D) Vijayawada
(B) Dwaraka 6. Expand UPSC.
(C) Kurukshetra (A)  United Public Service Community
(D) None of these (B) Union Public Service

Commission
(C) United Public Service Cenire
(D) Union Public Security Commission

2. Whois the only Indian to be nominated
for the Oscar Awards in 2013 2

(A) Anupam Kher

(B) lIrrfan Khan 7. Approximately, what percentage of
(C) Jayashri Ramnath living organisms’ body is composed
(D) Suraj Sharma of water ?

(A) 35% (B) 50%

3 : ; .
3. In which of the following lists, ' 5% - (D) 20%

‘Banking’ is included ?
(A) State List

(B) Union List

(C) Concurrent List

8. Mr. Navinchandra Ramgoolam is the
Prime Minister of

(D) Residuary List ) Mepal
(B) SriLanka
4. Anair quality database of 1600 cities (C) Bhutan
and 91 countries, released on May 7, (D) Mauritius
2014 by the World Health Organisation
(WHO) revealed that _ 9. Who is the present Indian Union

has the most polluted air in the world. Minister for Home Affairs 2

(A) Karachi (A) Ms. Sushma Swaraj
(B) Dhaka (B) Mr. Rajnath Singh

(C) Beijing (C) Mr. Arun Jaitley

(D) Delhi (D) Mr. M. Venkaiah Naidu
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10.  Who among the following introduced

11.

12,

13.

14,

15:

Local Self Government in India ?
(A) Lord Canning

(B) Lord Rippon

(C) Raja Ram Mohan Roy

(D) Lord Mountbatten

Bronchitis is the abnormality of
(A) Liver

(B) Respiratory tract

(C) Kidney

(D) Blood

Calorie is a unit of
(A) Heat
(C) Sound

(B) - Light
(D) Pressure

. The statue of Gomateshwara at
-Sravanabelgola was built by
- (A) Chandragupta Maurya

(B) Kharavela

- (C) Amoghavarsha

(D) Chamundaraya

. Elections for the post of the President

of India takes place after every

(A) General Election of the Parliament
(B) Fouryears

(C) Five years

(D) Six years

Right belief, Right cognition and Right
conduct are three gems or Triratnas
associated with

(A) Buddhism

(B) Jainism

(C) Hinduism

(D) None of these

16.

17.

18.

19,

20,

0 0 T O B

Thomas Cup is associated with

(A) Badminton
(C) Basketball

(B) Tennis
(D) Football

The Supreme Court on May 16, 2014
appointed Justice to further
probe into allegations in IPL-2013
Spot-fixing against former BCCI
Chief Mr. N. Srinivasan, Mr. Gurunath
and Mr. Raj Kundra.

(A) Santhosh Kumar Hegde
(B) N.Bhaskar Rao

(C)  Mukul Mudgal

(D) None of these

Recipient of Padmabhushan and
Jnanapeet Award, who died on
22-8-2014 in Bangalore is

(A) K.S.Karanth

(B) U.R. Ananthamoorthi

(C) D.R.Bendre

(D) None of these

The Earth rotates on its axis from
(A) Eastto West

(B) Westto East

(C) Northto South

(D) South to North

-

Temporary tax levied to obtain
additional revenue of the Government
is called

(A) Cess

(B) Rate

(C) Fee

(D) Surcharge
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18.

19,

20.
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(D) 37 & 1S e
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g, 9

(A) *.TH. FHa

(B) .. F=fd
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ii) General Intelligence and Reasoning Ability
21.  All except one of these words have 26. Disthe daughter of A. B is the wife of
three things in common. Which is the the father of the sister of D. How is A
exception ? related to B ?
(A) ARCADIA (A) Son
(B) GAUGING

(B) Grandson
(C) Husband
(D) Son-in-law

(C) MESMERISM
(D) HASHISH

22. Low is to high as heavy is to
= 9 2 27. Cis taller than A but shorter than B.

Gy S By ot E is taller than B but shorter than D.
i0) . Cary =) Drsva Who is the tallest ?

Directions (Qs. 23 and 24) : Answer these (A) A

questions based on the following information : (B) D

A, B, C,D, E, F, G, Hare sitting in a circle (C) B

facing the centre. B is sitting between G and D) ©

D. H is third to the left of B and second to

the right of A. C is sitting between A and G
-and B, E are not sitting opposite of each
other.

Directions for (Qs. 28 and 29) : In these
questions identify the alternative which does
not belong to the group to which the other
23. Who is sitting third to the left of D ? three belong.

E:; E 28. (A) Rectangle
©) A ] (B) Pentagon
(D) Cannot be determined ' (C) Square
(D) Rhombus
24, Who is sitting to the opposite of A ?
(A) D 29. (A) 64
(B) B (B) 8
(C) E (C) 100
(D) None of these (D) 27
25. ABCDEFGHIJKLMN 30. If '+' means =", '~ means ‘:’,
In the above series of letters, which ‘x'means ‘+' and '+’ means ‘x’,
is fourth to the right of the letter that is 15 :6=-3 x7+1=7
tenth to the left of N 7 (A) 10 B) 15
A F 9.9 ©) 18 (D) 20
(C) J (D) H
Ax &
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i) WA FgHT AT aTfehes AT
21. wwHoE,afivsEiidRamaEEE ] | 26, DIEAFIHIRIBTE D e o a1 N
AT FHAE ? HITHI 2 |ASIBE FTATTE ?
(A) ARCADIA (A) el
(B) GAUGING
(C) MESMERISM (B) kM
(D) HASHISH (C) wfd
2o 33 H T F R d 3 A wh 3o (D) s :
fee 27. CTERAIFT A BEATR IESE
(A) &&= (B) ¥R BRI Afaa DHAZIR | Had ST
(C) 3F&mi (D) =&TEt TEE?
iy - (7. 23 3R 24) : Frey gEATST % U i
U = U1 =] I e ; (E} 2
A, B,C,D, E, F,G, HJe U g1 § 36 5 ED; c

i o i@ s B E IBITEGIRDF
dfed 2 | HREBF aff SR du s A | fdw . (v, 28 3 29) . 37 uwi § fasheq =1
SR\ ARATURICTRANGHFdE | yr=ie st ardhl 1 aren & 998 & Ty 7
SRS B ETH TR F AHATEI A3 E | |

23. DFH i AR AT A W R ST & ©

28. (A) ¥Ed
(A) E _
(B) F (B) Ty
(C) A | (C) =K
(D) Tautia foran =& = v (D) 'g'qﬂ@ﬁa
24, A HZEEAFRFAIR? 20, (A) 64
(A) D
®) B (B) 8
(C) E (C) 100
(D) T & wrd T (D) 27
25. ABCDEFGHIJKLMN 30. 3 ‘. &1 qaad =, '~ & Haad
) Fawl 1 AEer §, S o 2 T HEEE ) H  FOHAEE 8,
1 N % Tl 3T & =04 3989 = qfed! W15 :6-3 x7+1="2
ST = FETE 2 (A) 10 (B) 15
(A) F (B) D () 18 (D) 20
c J (D) H
Ax 9
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32.

33.

If “He is running” is represented by
“lom tin nic”, “dog is running” is
represented by “nic lom mol”, “he
followed dog” is represented by “gin mol
tin”, which word represents ‘dog’ 7

(A) gin (B) mol

(C) lom (D) tin

In a certain code ‘RISK’ is written as
*QHRJ". How can “FILM" be written
in the same code 7

(A) MLIF

(B) EHKM

(C) EHKL

(D) GJMN

Replace the “?" mark with appropriate

alternative.

5.9, 13, 17.21,4
(A) 22 B) 25
(€) 23 (D) 26

Directions (Qs. 34 and 35) : Replace the
guestion mark with suitable alternative.

34.

35.

8 1.3 8 &

2 2 5 4

S 8 19

6 8 5 &4 7

(A) 4 (B) 5
(C) 6 D) 7
Dog : Puppy :: Cat: ?

(A) Kite

(B) Kiiten

(C) Cate

(D) Caty

-10-

36.

37.

39.

40.

| S O

Raju walks 25 m straight towards
west, then turns right and walks 20 m
straight then tumns right and walks 50 m
straight, then turns right and walks
straight 20 m and again turns right and
walks straight for 20 m. How far is he
from his starting point ?

(A) 30m (B) 10m.

(C) 5m (D) 15m

Pick the odd one out.

(A) Cone (B) Cylinder
(C) Cube (D) Trapezium

A farmer owns a square land. One of
its diagonal has an East-West
direction. While walking along the
perimeter, in which direction can he
never walk ?

(A) North-East

(B) South-East

(C) MNorth-West

(D) None of these

Directions (Qs. 39 and 40) : In these
questions replace the question mark with
proper alternative.

ACEG : BDFH :: PRTV . ?

(A) QRUW (B) Qsuw
(C) STUR (D) QRST
230 84 28

70 116 15

iR o R

275 193 7

(A) 37 (B) 43

(C) 36 (D) 41
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31,

32,

33.

Ife < es i = w fom e, Ul
o #ia’ U g S g R CH
FAR S # Rmate R’ et
FraT R, & S & e w7
(A) T (B) Hie
(C) == (D) f=

v FAfra e | ‘RISK = “QHRJ" fomr
ST | 3t e 7 “FILM® =6t 8 o
ST ?

(A) MLIF

(B) EHKM

(C) EHKL

(D) GJMN

Yo" Frere Ay ey fafEd
5,9,13,17,21,2
(A) 22
(C) 23

(B) 25
(D) 26

291 : (9. 34 371 35) : w Foaes 1 w7 Ay
faereq weferd |

JDD-36/PGT-URDU/X-14

36. TS UfT=M 1 1R Hid 25 M. gerar 2
o a8 Tfet st g i 20 1t =reran
& TRt it 31l ggare 50 . #fe =
2 | o5 = arfeht o9 gmere 20 41, €Y
=TT 8 3R R 39K Uk R <R 37 e
20 H1. =eta1 2 | ey forg @ e a8
Engik-cife &
(A) 304 (B) 104,
(C) 5Hi. (D) 154i.
37. FwmErga |
(A) TF (B) s
(C) = (D) wHe=
38. U fram o o uw R 9 @ | Ee
# | v foamol famm g -ufvem 2 | oftfa
R =erd ge o fawm o o st A v ?
(A) FR-H
(B) wfém-g&
(C) IW-ufv=m
(D) FHAFETE
2w : (9. 39 371 40) : 37 w1 & WA foeg F
78 faweT | w95y |
39. ACEG:BDFH : PRTV:?
(A) QRUW (B) QSUW
(C) STUR (D) QRST
40, 230 84 28
70 - 41618
L
275 193 ?
(A) 37 (B) 43
(C) 386 (D) 41

-11-
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41,

42,

43.

a4,

A=

If25% of a number is subtracted from
asecond number, the second number
reduces to jts five-sixth. What is the
ratio of the first number to the second
number ?

(A) 2:3

(B) 3:2

(C) 1:3

(D) Data inadequate

Two roads XY and YZ of 15 metres
and 20 metres Je ngth respectively are
Perpendicular to each other, What is
the distance between X and Z by the
shortsst route ?

(A) 35 metres
(C) 24 metres (D)
The average of four numbers is 25,
When a fifth number js added their
average reduces to 24. Find the fifth
number. |

(A) 25
(C) 24

(B) 20
(D) 22

Lahari is twice as old as Lekhana.
Three years ago she was three times as
oldas Lekhana, How old is Lahari now 2

(A) 17 years (B) 9years
(C) 12years (D) 6years
6°+9+2%x2

e 1

—|.+-_x_

& rane.g
(A) 16 (B) 8
(C) 10 (D) 22

(B) 30 metres
25 metres

48.

47,

48,

49,

50.

mmmwmmmmmmmu

iii) Arithmetical ang Numerical Ability

%46, 43, ¥6

Write the above surds in the
descending order.

(A) §48, V3, ¥6
(B) Rl4s, %6, V3
(C) V3,36 946
(D) %6, V3, %26

20 men can do a piece of work in
15 days. If it is to be completed in
10 days, how many more men are
necessary ?

(A) 12

(C) 10

(B) 15
(D) s

Theareaofa circle is 154 sq.cm. Fing
its diameter.

(A) 14cm
(C) 12em

(B) 7em
(D) 10em

The radius of a rhetalﬁc Sphere is
7cm. Ifitis melted and Cast into cones
of radius 7 em ang height 4 cm, how
many cones can be produced ?

(A) 14 B) 7

€ 12 (D) 10

The market value of 3 share of 2 100is
3 120. A person invests ¥ 24,000in this
share. If the dividend declared is 10%,
what is his eamings in that year ?

(A) T2.200 (B) ¥2,050
(C) T2,000 (D) ¥1,200
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lil) sTeRTTOTd T U HEETeeR At

41, T3 U HE I 25% S5 HE H 02

ST e, A G EE 5/6 TR FA A S € |
e S 1 2 T § 1 I 2 2
(A) 2:3

(B) 3:2

(C) 113

(D) 9T STiFE

42 XY #¥ YZ 9 T FEE: 15 e ol

a2

44.

45.

20 MR TR % | F 219w 1 wigerrs

&1 X 3t Z & o9 %7 2757 mwmw ok
& A i =

(A) 35H= () 8o
(C) 24dr= (D) 25w
A TSI SR 25 3 \ TR TR TR
A& e Sl @ a9 o719 " 24
Erwre 8 | v e v i |
(A) 25 (B) 20
(C) 24 (D) 22

aﬁﬁﬁﬁ@mﬁm%wﬂqm
uEd 98 e | 3 H dEl off | 3|

el i Im a2 2
(A) 179/ (B) 9#HT@
(C) 129wt (D) 6HH
52+9+22x2=?

b Boprd

2 2 2

(A) 16 (B) 8
(C) 10 (D) 12

JDD-36/PGT-URDU/X-14

46. %/46,43, 36
Sl Rt =1 s1Eie w H JeEd |
(A) $%a8,3, Y6 '

(B 46,36 V3
©) +3,%6 %46
() ¥6, 3,546

47. 20¥EfiTE wFmis A damEwd €1
Eﬂwﬁ wEE 9 5

fAﬁf‘T’;i'ﬂ"’iﬁE’ﬁ R
©) 10 D) 5
48. UHRTHFI ST%T 154 I MR | 3T
=g Ul i |
By ANEE. ) TR
(C) 12¥.H. (D) 10 ..

13-

49. U o e F e 7 9. 2 3l
I TETET e ® 3R 7 6. e i
4 9.5, S3TE a6 T 3 STl AT R,
a1 e g Iemfea R s 2
(A) 14 (B) 7
) 12 (D) 10

50. THZ 100 Y3 IR H aNE e T 120 2 |
T FEAT T 24,000 T Y AT HER |
712 10% =1 FATHTY e R = g,
1 39 FTet 39! FATE fohaAt grft ?
(A) % 2,200
(B) %2,050
(C) 2,000
(D) ¥ 1,200




g

JDD-36/PGT-URDU/X-14

a1.

A

53.

55.

x+3 5] [2x-1 2]_[8 7
ol S o 3l [1 3]

find X.
Ay 2 (B) 3
(C) 4 (D) 1
. 218

1
(A) 30 B 3
s o) =
Tl ® 3

What is the difference between the
compound Interest and Simple
Interest for T 50,000 at 10% per
annum for 2 years ?

(A) %1,000 (B) %50
(C) 500 (D) T100
i e L 7
If the fractions —» —» —» 77 and ; are

: 4'6’'5 11 9
written in the ascending order of their
values, which one will be in the
middle 7

B8 3
® 5 ® 3
& ® <

If the cost price of 6 articles is equal
to the selling price of 5 such articles,
find the percentage of profit.
(A) 10% (B)
(C) 15% (D)

12%
20%

57.

58.

59,

60.

A0 A O

Three identical coins are tossed
together. What is the probability of
obtaining all tails ?

3
(A) 3 (B)

(&)

M| o)==

2 D
7 ©)

If log 30 = 1.4771, log 300=?
(A) 14771
(B) 0.1477
(C) 2.4771

(D) 1.4771

How many 3 digit numbers whose
values are more than 500 can be
made using the digits 1,2. 3,4, 5 7
(A) 60

(B) 10

(C)y 12

(D) 20

Find the medianof7,3,5,1,8,2,9,6,4.
(A) 5

(B) 6
(C) 4
(D) 7
6.9, 12 15,18....

Find the 315'term of this seguence.
(A) 66

(B) 56

{Cy 75

(D) 96
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3

52,

83.

54,

23,

X+3 5 a—q o g8 7
"'ﬁ%{ 1 DJJ{ 0 3}:[1 3

2, a1 X HI A B
(A) 2 (B) 3
(C) 4 (D) 1
IR N
Egiwmwﬁﬁm
1
(A) 30 B 3
1 6
(C) 30 (D) 5
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V) Test of Language : English
HTHT AT ¢ S

Directions (Qs. 81 to 84) : Read the passage
given below and based on this, answer these
questions that follow

Itis no doubt true that we cannot go through
life without sorrow. There can be no
sunshine without shade. We must not
complain that roses have thorns, but rather
be grateful that thorns bear flowers. Our
existence here is so complex that we must
expect much sorrow and suffering. Many
people distress and torment themselves
about mystery of existence. But although a
goodman may at times be angry with the
world, it is certain that no man was ever
discontented who did his duty in it. The world
is like a looking glass. If you smile, it smiles,
if you frown, it frowns back. Always try then
to look at the bright side of things. Life has
been a comedy to those who think and a
tragedy to those who feel, It is indeed a
tragedy at times and co medy very often, but
as a rule, it is what we choose to make it

81. We should expect much sorrow and
suffering in life, because

(A) Every rose has a thorn
(B) We think too much
(C) Ourlife is so complex

(D) Our own actions are responsible

forthem

82. What do people distress and torment
about ?

(A) Life consists of both joys and

Sorrows
(B) The World is like a mirror
(C) Lifeisa tragedy at times
(D} Secrets of life unknown to man

Ax

83.

86.

87.

What sort of man is never dissatisfied ?
(A) Who does his duty in the World

(B) Who never gets angry with the
World

(C) Who only Books at the bright
side of things ;

(D)  Who has no complaint about roses
having thorns

According to the writer, life is indeed
(A) acomedy

(B) atragedy

(C) amystery

(D) what we make of it

“The World is like a looking glass”.

The figure of speech found in this
above sentence is

(A) Metaphor

(B) Simile

(C) Hyperbole

(D) None of these

Choose the opposite of the word
‘denial’

(A) Acceptance (B) Disliking
(C) Refusal (D) Available

Choose the alternative which is
closest in meaning to the word
“irrelevant”

(A) Irresponsible
(B) Improvable
(C) Unnecessary
(D) Incorrect




Directions (Qs. 88 to 91) : In each of the
sentences given in these questions, some
sentences have errors and some have none,
Find out which part (A) or (B) or (C) of the
sentence has an error. If there is no error your
answer is (D)

88. 1 shall go to Australia (A)ffor higher
studies (B)/if you like it or not.(C)/ No

error (D)
89. They refused (AVstaying in that hotel (B)
as it was too crowded, (C)/No error (D)
] 90. Each person (A)/should look after (B)/
. their own belongings.(C)/No error (D)
91.  The train entered (A)/in the station (B)/

and stopped slowly.(C)/No error (D)

Directions (Qs. 92 1o 85) : Fill in the blanks
with the most appropriate alternative.

92. Since Robert is
photographer, he did not charge us
any money for taking our photograph.
(A) a professional
(B) an unknown
(C) anamateur
(D) a qualified

93. He shouted the top of his
§ voice but his friend didn't hear him,
(A) to (B) at
$ (C) on (D) about
94. He me for the last few
months that he is leaving India very
soon,
(A) told
(B) has told
(C) has been telling
(D) has been told
Ax

18-

95.

96.

97.

98.

a9,

100.

JDD-36/PGT-URDU/X-14
You are ready to go, ?

(A) Isn'tit

(B) Aren't you

(C) Areyou

(D) Isit

Choose the alternative which best
eXpresses the meaning of the idiomy/
phrase given in Capitals,

I want to tell you that | will not PUT
UP WITH this habit of yours,

(A) Tolerate

(B) Discuss

(C) Encourage

(D) Laugh at

Choose the correctly spelt alternative.
(A)  Simultaneous

(B) Simultanious

(C) Simaltaneous

(D) Simultenious

Plural of “tooth” is

(A) Toothes (B) Tooths
(C) Teeth (D) Toothy
Past participle of ‘come” is

(A) Coming (B) Came
(C) Come (D) Comes
The girl WHO danced is my sister,

In the above sentence, the part of
Speech of the word written in capital
letters is
(A) verb
(C) adverb

(B) pronoun
(D) noun
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iereari o forg vyt srgeer

11. This booklet contains 32 pages. 1. WyfEFTH 32992 |

12. Please check all the pages of the Booklet
carefully. In case of any defect, please ask 12. g g o el g1 S Frimer R |2
the Invigilator for replacement of the Booklet. &1 o 8, ) R f1 38 seer F o =2 |

13. Directions : Each guestion or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes
the statement and blacken (@) appropriate
circle A, B, C or D by Blue/Black Ball-Point Pen
against the question concerned in the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

14. Mark your answer by shading the appropriate 14,

circle against each question. The circle should
be shaded completely without leaving any space.

13. Fdwr ; ves WA 99 TS I A & 95
TR I 9 OF FU A T | el g
o ayromt et o TR W e 1 HE I
3 7Y FYF F QT F IR AH I
H Iuge MaR @ A, B, Ca1 D Hien @
FTET AA-Yi5¢ 94 § Fe (@) FAT R |
(gfEanfim safreawi & f wm Tremen
fafes grr wren e =me)

TeF W F wie 3ta go s e
s ol | R R mm e et |

! The correct method of shading is given below. feeifera =@ =1 vt olte =2 R 2

I Wrong Method |[Wrong Method || Wrong Method || Corect Method A T || e T || e A | EE e
O®00|0@w00[C®00[0800 080008 00[0e00J0000
The Candidate must mark his/her response el 31 ST I S A1 fore & 39
after careful consideration. faffasmrafiu

. WeF W F1 F99 U € °E IW R | A
wfad Fieq 791 A, B, C 41 D & Ta=R
TH 1 Hiel (@) FATE | IR I e v &
T U ¥ A e @ i (@) Al
ST I T W SRR | 97 oA R s
T2 AT I18d & A1 379 I -G % 38 METHR
TH R FH S TE BT R aa e gy
S = fore e @ w0 e S |

1.0, 3T, IW-TEFT § 9l 13 2 G F
U geft Rt | 4R gee arqul 2 stuen snEeA
o & 2 g @ R R, a O el

15. There is only one correct answer to each 15
guestion. You should blacken (@) the circle
of the appropriate column, viz,, A, B, C or D.
If you blacken (@) more than one circle
against any one question, the answer will be
treated as wrong. If you wish to cancel any
answer, you should completely erase that black
mark in the circle in the Answer-Sheet and
then blacken the circle of revised response.

16. A machine will read the coded information
in the OMR Answer-Sheet. In case the -
information is incomplete/different from the 16.
information given in the application form, the
candidature of such candidate will be treated
as cancelled.

17. Use the space for rough work given in the srafifen e wght r |
Question Booklet only and not on the 17. s sd s g wwid Rv@ R =
A r-Sheet.
e M E | FE-gfEE W e A |
18. Youare NOT required to mark your answers .
In this Booklet. All answers must be 18. 38 qiEahT & o= arTush! I sifea T

indicated in the Answer-Sheet only. AR | I FIE IN-TUHSFTH A S |

Go through instructions given in Page No. 1 (Facing Page)
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